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UNSEEN :

1. Read the following passage and answer the following questions :

The coconut tree is a tall tree. It has a bunch of leaves at the top. It grows in hot countries
and places near the sea. Its fruit is the cocnut. Coconuts grow in bunches. They give us both
food and drink. The water of the green coconut is a good drink. We eat the white kemmel as food.
The dried kernel contains a lot of oil. Coconut oil is very useful. The fibre of the ripe coconut is
made into ropes.

A. Answer the following questions : 1x2=2

(i) What does the coconut tree give us?
Ans.

(1) Which is a good drink?
Ans.

B. Write “T” for true and ‘F’ for false statement in the box : 1xl=1

(1) The colour of the kernel is white.

C. Find out opposite word from the above passage : 1x1=1
(i) Green —
D. Fill in the blank with word taken from the above passage : 1x1=1
(1) We drink
2. A Chang;a the number of the following word : 1x1=1
(i) Mouse —
B. Change the gender of the following word : 1%1=1"

(i) Poet —
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C. Write the past participle form of the verb given below : 1x1=1
(i) ring —
D. Do as directed : 1x2=2

(1) They are swimming in the pond. (Turn into Past Indefinite Tense)

Ans.

(i) They laughed happily. (Turn into Present Indefinite Tense)
Ans. '

3. Translate the following sentences into English : 1x2=2

() & oI T
Ans. i

(i) =R QL TR
Ans.

WRITING SKILL

4. Write a paragraph about your ‘Best Friend’. 3
Ans.
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